STUDENT A

The tourism director for a h’igh~sgpreed train company was interested in finding out the precise
time the train passed by some special landmarks.

To help her figure this out, she began by collecting some data for the Palmetto train that
originates from New York City Penn Station and ends atRichmond, VA, stopping at various
locations along the route. : .

Palmetto~ | Time Distance from |
Train #89 cumulative | NY
Location of Train Stops . Daily (minutes) (miles)
NewYork, NY-PennStation | &15AM | o 0
Newark, NJ  6:32AM | ‘ 17 13
Trenton, NJ | 7:06Am - 51 " 66
Philadephia, PA _7:37AM 82 I %6
Wilmington, DE - 8:02AM 107 125
Baltimore, MD | 8:54am 159 190

| Washington DC - | 9:55AM 220 227
Alexandria, VA | 1012am 237 238
Richmond, VA - Staples Mill Road | _ 11:50AM 335 335

1. Create a scatterplot showing the relationship between cumulative time and distance
from New York. /\ '
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2. Determine an equation that could be used to help predict the cumulative time at which
the Palmetto train will be passing some landmarks that are speciﬁc distances from New

York along the route.
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3. Interpret the ‘slope and y-intercept of your equation in the context of this problem.
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4. The Palmetto passes one landmark just before the train stops in Washington DC,
approximately 220 miles from New York, Use your equation to predict the amount of
time that will have elapsed between when the train left New York and when it passes
this landmark. How accurate do you think this prediction will be? Explain your thinking
and justify your prediction.
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5. Onlanuary 17, 2012, the Palmetto train was delayed and held at New York City, Penn
Station for 25 minutes due to mechanical repairs. Assuming that the remainder of the
route continued as normal, what could be the new fine of best fit that represents the
distance traveled over time for this route? Justify your response.
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6. Dynamic Enterprises, a business based out of New York City, has an office in Richmond,
VA. Many employees will be traveling regularly between the New York City office and
the Richmond office. Dynamic Enterprises is interested in a train route that travels from
New York City, Penn Station to Richmond, VA in about 3.5 hours. If a new route were to
be developed to accommodate this request, what mathematical representation could
model this new route? What equation could be used to model this new route? What
are the implications of creating this new route?
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STUDENT B

The tourlsm dlrector for a hlgh speed tram company was mterested in finding out the

To help her fi gure this out, she began by collectmg some data for the Palmetto tram that
originates from New York City Penn Station and ends at Richmond, VA, stopping at

various locations along: the route.

Palmetto - Time Distance -

Train #389 cumulative from NY
Location of Tram Stops : R SN D?’lly , (mmt.e 3 » (m=|le_s)_‘
New York, NY = Penn Sta‘uon _6:15AM 0 0
Newark, NJ ~ 6:32AM 17 13:
T  7:08AM - | Bl .| 66~
Phlladephla PA | T7:37AM 82 96
Wilmington, DE _ 802AM 107 125~
Baltimore, MD  8:54AM 189 190~
Washington DC 9:55AM 220 227~
Alexandria, VA 10:12AM 237 238~
_Rlchmond VA - Staples Mill 11:50AM 335 335
Road o )

1. Create a scatterplot showing the relationship between cumulative time and

~ distance from New York.
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2. Determlne an equatlon that could be used to help predlct the cumulatlve tlme at.

3. Interpret the slope and y-intercept of your equation in the context of this prablem.
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4. The Palmetto passes one landmark just before the traln stops in Was; mgton DC,
approxnmately 220 miles from New York. Use your equation to predict the
amount of time that will have elapsed between when the train left New York and
when it passes this landmark. How accurate do you think this predlc’uon will be?
Explain your thinking and justify your prediction.
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5. On January 17, 2012, the Palmetto train was delayed and held at New York City,
Penn Station for 25 minutes due to mechanical repairs. Assuming that the S
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STUDENT B

remainder of the route continued as normal, what could be the new line of best fit
that represents the distance traveled over time for this route’7 Justn‘y your

response.
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. Dynamic Enterprises, a business based out of New York City, has an office in

Richmond, VA. Many employees will be traveling regularly between the New
York City office and the Richmond office. Dynamic Enterprises is interested in a
train route that travels from New York City, Penn Station to Richmond, VA in
about 3.5 hours. If a new route were to be developed to accommodate this
request, what mathematical representatlon could model this new route? What
equation could be used to model this new route? What are the implications of
creating this new route?
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STUDENT C

The tourism director for a high-speed train company was mterested in finding out the precise

time the train passed by some special landmarks.

To help her figure this out, she began by collecting some data for the Palmetto train that
originates from New York City Penn Statlon and ends at Richmond, VA, stoppmg at various

locations along the route.

Palmetto — Time Distance from
Train#89 | cumulative “NY
Location of Train Stops Da-ily (minut»gs)' | (miles)
| New ‘Y’o:rk,., NY - Penn Station 631§AM 0 » 0
Newark,N) | 632am 17 13
Trenton,NJ | 708am | s 66
Philadephia, PA | 7:37AM ) 96
Wilmington, DE | soam | 107 125
Baltimore, MD | 833am 159 190
Washington DC _ 9:55AM | 220 227
Alexandria, VA 10:12AM 237 738
Richmond, VA - Staples Mill Road | 11:50AM 335 335

1. Create a scatterplot showing the relatxonshsp between cumulative time and distance

from New York
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2. Determine an equation that could be used to help predict the cumulative time; at which
the Palmetto train will be passing some landmarks that are specific distances from New
York along the route.

3. Interpret the slope and y-sin‘et’é'rce'pt of your equation in the context of this probleim“
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4. The Palmetto passes one la ndmark just before the train stops in Washington DC,
approximately 220 miles from New York. Use your equation to predict the amount of
time that will have elapsed between when the train left New York and when it passes
this landmark. How accurate do you think this prediction will be? Explain your thinking

and justify your prediction, ke
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5. OnlJanuary 17, 2012, the Pa!metto train was delayed and held at New York City, Penn
Station for 25 minutes due to mechanical repairs. Assummg that the remainder of the
route contmued as normal, what could be the new line of best fit that represents the
distance traveled over time for this route? Justify your response,

6. Dynamlc Enterprises, a business based out of New York City, has an office in Richmond,
VA. Many employees will be travehng regularly between the New York Clty office and
the Richmond office, Dynamic Enterprises is interested in a train route that travels from
New York City, Penn Station to Rxchmond VAin M@ if a new route were to
be devefoped to accommodate this request, what mathematical representation could

odel this new route?' hat equation_could be used to model thIS new route’P What
are the xmphcatlons of creatmg this new route? '
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The tourism dii'ector for a high-speed train com

time the train passed by some special landmarks.

To help her figure this out, she began by collectm
originates from New York City Penn Station and e

locatuons along the route,

STUDENT D

pany ‘was interested in flndmg out the precise

g some data for the Palmetto tram that
nds at Richmond, VA, Stoppmg at various

Palmetto — Time | Distance from
Train #89 cumulative NY
Location of Train Stops Baily {miniesy (miles)
:New York NY - Penn Stat;on : 515AM O'_ o 0
| Newark, NJ 6:32AM 17 13
Trenton, NJ - 7:06AM 51 66
Phtladepma PA _ 7:37AM 82 96
| Wilmington, DE 8:02AM 107 125
| Baltimore, MD 8:54AM 159 190
| Washington DC 9:55AM 220 297
Alexandria, VA _ 10:12AM 237 238
|_Richmond, VA - Staples Mill Road 11;‘50A'M: | 335 335 ]

FO

from New York.

1. Createa scatterplot sh?mg the relationshi

p between cumulative time and distance
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2. Determine an equation that could be used to help predict the cumulative time at which
the Palmetto train will be passing some landmarks that are specific distances from New
York along the route. ' | ' '

N QO AnUET v 0
Y=0.0947600492 X 4

i

3. Interpret the slope and y-intercept of your equation in the context of this problem.
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4. The Palmetto passes.one landmark just before the train stops in Washington DC,

approximately 220 miles from New York. Use your equation to predict the amount of

time that will have elapsed between when the tra in left New York and when it passes

this landmark. How accurate do you think this prediction will be? Explain your thinking

and justify your prediction. 7) Ut %g% 2 ﬁi S ¥ PN Ik{f* %%’é g} }i -
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5. OnJanuary 17, 2012, the Palmetto train was delayed and held at New York City, Penn_
Station for 25 minutes due to mechanical repairs. Assuming that the remainder of the
route continued as normal, what could be the new line of best fit that represents the
distance traveled over time for this route? Justify your response,

3
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6. Dynamic Enterprises, a business based out of New York City, has an office in Richmond,
VA. Many employees will be traveling regularly between the New York City office ’and
the Rich.m‘on_d.pfﬁ“ce. Dynamic Enterprises is interested in a train route that travels from
New Yark City, Penn Station to Richmond, VA in about 3.5 hours. If a hew 'r.dute Were to
be developed to accommodate this request, what mathematical representation could
model this new route? What equation could be used to madel this new route? What

are the implications of creating this héwrbut‘e? 2.5 hours = 210 mips+es
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* ISTUDENTE

The tourism dlrector for a high-speed train company was interested in fmdmg out the precise
time the train passed by some special landmarks.

To help her figure this out, she began by co’H‘e'éting some data for the Palmetto tréin that
originates from New York City Penn Station and ends at Richmond, VA, stoppmg at various
locations along the route ;

fram

Pa=l'_ﬁ1é~tto - Time Distance
Train #89 cumulative NY
_Location of Train Stops Dally . (minutes) _ (mil-'ebs’)
‘New York NY Penn Station H
| Newark, NJ
Trenton, NJ

P’h;i’léde'ph_ia,j PA

0 | o
17 13
51 66
8 | %
 Wilmington, DE w7 | s
Baltimore, MD | 159 | 190
Washington DC | ‘955AM L 20 | 227
Alexandria, VA | _ | 10:12AM 28 B 238
_Richmond, VA - Staples Mill Road 1150AM | 335 | 335
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1. Create a scatterplot showing the relatlcnshlp between cumulative time and distance
froml\ lew York.
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2, Determine an equation that could be used to help predict the cumulattve tlme at:which
the Palmetto train will be passing scme landmarks that are specnﬂc distances: from New
York along the route : :

\J 0 i%mq‘ga

3. Interpret the slope and y-intercept of your equation in the context of this problem.

4. The Palmetto passes one landmark just before the train stops in Washington DC,
approximately 220 miles from New York. Use your equation to predict the amount of
time that will have elapsed between when the train left New York and when it passes
this landmark. How accurate do you think this predictlon will be? Explain your thinking
and justify your prediction. -
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5. OnJanuary 17, 2012, the Palmetto train was delayed and held at New York City, Penn
Station for 25 minutes due to mechanical repairs. Assuming that the remainder of the
route continued as normal, what could be the new line of best fit that represents the
distance traveled over time for thls reute'? Justify your response.
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6. Dynamic Enterprises, a business based out of New York City, has an office in Richmond,
VA. Many employees will be traveling regularly between the New York City office and
the Richmond office, Dynamic Enterprises is interested in a train route that travels from
New York City, Penn Station to Richmond, VA in about 3.5 hours. If a new route were to
be deve‘lc’aped to accommodate this request, what mathematical representation could
model this new route? What equation could be used to model thlS new route? What
are the implications of creatmg this new route?
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STUDENT F

The tourism director for a high-speed train company was mterested in fmdmg out the preCIse
time the train passed by some special: landmarks : o #

To help her figure this out, she began by collecting svo'me data for the Palmetto train that
originates from New York City Penn Statmn and: ends at Rlchmond VA, stoppmg at various
locations along the route.

Y X

Palmetto - Time Distance from |
Train #89 cumulative NY

- Daily | {(minutes) (miles)

Location offrain’Stops _ » ,
:'NewYork NY-PennStation | 6:15AM | o | o |
.Newark NJ » N ' 6:32AM | 17 13
Trenton, NJ__ | 7osam | 51 66
| Philadephia,PA o T:37AMC | 82 | 96
Wilmington, DE o 802aM | 107 | 125
| Baltimore, MD | ssaam | 159 [ 190
| Washington DC | essam | 220 | 227

 Alexandria, VA | 10:12AM 237 238
Richmond, VA - StaplesMnlI Road | 1L:50AM | 335 335

i{“j ?
[axy

Create a scatterplot showing the relattonshlp between cumu!atlve time and distance

from New York
|

sl

£y
¥

AN L

£
¥

|
" i
55|
|

A

' A

L OM

130 | '
s

=

£

?0{} :E

175

ISTACE

[ A E : a7

1
| AT g e R FEG
; N Do (21 Paws SRER T

¢ e 00 TS o 9s Toe 135 e DT Time



jsl47365
Text Box
STUDENT F


STUDENT F

-+ 2. -Determine an equation that could be used to help predict the cumulative time'at which
the Palmetto train will be passmg some: Iandmarks that are specnfnc dlstancesffmm New
York along the route. ' '
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3. Interpret the slope and y-intercept of your equation in the context of this problem.
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4. The Palmetto passes one landmark just before the train stops in Washington DC,
approximately 220 miles from New York: Use your equation to predict the amount of
time that will have elapsed between when the train left New York and when it passes
this landmark. How accurate do you think this prediction will be? Explain your thinking
and justify your prediction.
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5. OnlJanuary 17, 2012, the Palmetto train was delayed and held at New York City, Penn
Station for 25 minutes due to mechanical repairs. Assuming that the remainder of the
route continued as normal, what could be the new line of best fit that represents the
distance traveled over tlme for this route? Justify your response
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6. Dynamic Enterprises, a business based out of New York City, has an office in Richmond,
VA. Many employees will be travehng regularly between the New York City office. and
the Ruchmond office. Dynamic Enterprises is interested in a train route that travels from
New York City, Penn Station to Richmond, VA in about 3.5 hours. If a new route were to
be developed to accommodate this re-ques_t, what mathematical representatmn could
model this new route? What equation could be used to model this new route? What
are the implications of creating this new route? ’
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_..[STUDENT G |

The tourism dlrector fora hrgh-speed train.company was interested in findi ing out the precise
time the train passed by some special landmarks

To help her figure this out, she- began by collecting some data for the Palmetto train that
originates from New York City Penn Station and ends at Richmond, VA, stopping at various

locations along the route.

Location of Train Stops _

“Palmetto =

Train #89
Daily

Time
cumulative
(minutes)

 Distance from

(mﬂes)

New York, NY - Penn Station

_ 6:15AM

0

g

Newark, NJ

6:32AM

17 b

13 %

Trenten, NI

7:06AM

51 ¥

669

_Phlladephna, PA .

- 7:37AM

82 t@“%— '

S

_Wilmington, DE

8:02AM

107 [

125170 |

| Baltimore, MD

_854AM

159 (% |

190915

’, Washington DC

~ 9:55AM

220 L5

227 192 |

Alexandna VA

10:12AM:

238 WH |

R!chmond VA Staples Ml“ Road

11:50AM

335D

335 30|

1. Create a scatterplot showmg the relatlonshrp between cumulative time and distance

from New York
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2. Determine an equation that could be used to help predict the cumulative time at which

the Palmetto train will be passing some landmarks that are specific distances from New
York along the route.

Nz ﬂ%m 1+ Q%)

3. Interpret the slope and y-intercept of your equation in the cohfc‘ext" of this problem.

NAORROE 9 gy

4. The Palmetto passes one landmark just before the train stops in Washington DC,
approximately 220 miles from New York. Use your equation to predict the amount of
time that will have elapsed between when the train left New York and when it passes

this landmark. How accurate do you think this pred:ctmn will be? Explain your thinking
and justify your prediction.
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5. OnJanuary 17, 2012, the Palmetto train was delayed and held at New York City, Penn
Station for 25 minutes due to mechanical repairs. Assuming that the remainder
route continued as normal, what cou!d be the new line of best fit that represents the '
distance traveled over time for thlS route? Justify your response.
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6. Dynamic Enterprises, a business based out of New York City, has an office in Richmond,
VA. Many employees will be traveling regularly between the New York City office and
the Richmond ofﬁce Dynamic Enterprises is interested ina train route that travels from
New York City, Penn Station to Richmond, VA in about 3.5 hours. If a new route were to
be developed to accommodate this request, what mathematlcal representation could
model this new route? What equation could be used to model this new route? What
are the implications of creating this new route?
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The tourism director for a. h:gh«speecf train company was interested in finding out the precise

time the train passed by some special landmarks,

STUDENT H

To help her fig igure this'out; she bégan by collecting some data for the Palmetto trainthat

originates from New York City Penn Station and ends

locatmns along the route.

at Ri hmand VA, stcppmg at various

Palmetto~
Train #89
Daily

Time
cumulative

(minutes)

Distance from

NY
{miles)

'_Locatron of Tram Stops

i o

JL

82

R:O2AM°

107

Baltimore, MD

8:54AM

’_washiﬁgm DEC

9:55AM

220

Alaxandna, VA

ii’i,:SQAM .

335

Rlchmond VA Staples Mlli Road

1. Create ascatterplot showmg the relationship between cumufative time and distance

from New York. ¢ § =



jsl47365
Text Box
STUDENT H


STUDENT H

sed to help predict the cumulative tin
'im tte tram wx!k be passmg soie landmarks that are specific dzstances»rfro New
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3. Interpret the slope and y»mtercept of your equation in the context of this problem.

miles from New York. Use your ec;uatren td ﬁfed
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5. OnlJanuary 17,2012, the Palmetto train was: de%ayed arid held at New York Czty, Penn
Station for 25 minutes due to. mechamcai repasrs Assummg that the rem’
route centmued as normal, wh

6. Dynamic ’E:nterpnses a business based out of New Yerk City, hasan: office in Richmond,
VA, Many mplayees will be travelin; egularly between the New York City office and
the Rm F ma,;d ofﬁce Eynamsc Enterprzses is mtere "d ina t m route that traveis fram
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